ITI Electrician 1st Year Module 2 Wire joints, Soldering and UG cables

(1). Which is the unit of reciprocal of resistance? | iRy & ceh H Cal ‘écbl‘ér ]
82

(A) Mho (0)

(B) Ohm (Q)

(C) Volt (V)

(D) Ampere (A)

Correct Answer : A &
QQ/

(2). What does the number 1.40 represent if a txw'ed conductor is designated
as 7/1.40? | ¢ T gU ATA® &l 7/1. 40 ST g, <Y 1.40 T SR

87
(A) Area of cross section | @ RELTY|

(B) Radius of one conductor@mﬁﬁw

(C) Diameter of all cond | 4t TP BT I

(D) Diameter of each coRductor | Ud® ATAD BT AT

Correct Answer : D

(3). What is the cause for cold solder defect in soldering? | SN H de Tice
QY BT HRUT T g2

(A) Excessive heating | 3D HHA
(B) Insufficient heating | AT ™

(C) Incorrect use of solder | IR RINGR R



(D) High wattage soldering iron | 3=l dIC qies T 3R

Correct Answer : B

(4). What is the current rating factor for close excess current protection of cable?

| I B U DI TANGT URT GR&HT & forg URT I RS 182
(A) 0.81
(B) 0.92
(C) 1.23
(D) 1.5
Correct Answer : C

S
(5). What is the name of the part marked a ’Ne under ground (UG) cable? |

9 YPTd dhad T X' I SAIT URT &l |

R N .
L =, L,//# \
<N 5\

\V

(A) Bedding | sfeT
(B) Armouring | STHRT
(C) Lead sheath | R

(D) Paper insulation | PTG Pdlcid

Correct Answer : A

(6). Which type of wire joint is found in the junction box? | SR dieg H fbg
UHR & dRI & SIS UTT Sild g7




(A) Aerial tap joint | GRUW ¢TSS
(B) Plain tap joint | HIY YIS
(C) Rat tail joint | Y€ ¢ SIS

(D) Married joint | ARS SIS

Correct Answer : C

(7). Which cable laying method is used in generating station? | Wﬂtﬁﬁﬁ
o UBR &1 had fasM & faftr &1 yanT fear Srar g

(A) Inducts | Sac H X
(B) Racks in air | 89T H Y& Q
(C) Along buildings | Had & T1Y &\’
(D) Direct in ground | T SHA H \\:b'@
Correct Answer : B . QJ

&

(8). Which metal is used as §ctors for wiring? | Wﬁ"’[%m Heae &b 7Y
Yoy H@ﬁ:@ﬂﬂ@ &

(A) Mild steel | AT I
(B) Copper | PR
(C) Silver | Rear

(D) Gl

Correct Answer : B



(9). What is the name of the part marked ‘X’ in UG cables? | 94 @Hmﬁ
x' Y SRTT I 6T 19 Jd18g|

(A) Serving | TfaT
(B) Bedding | 9fSTT
(C) Armouring | STHRIT X
(D) Lead sheath | 9IS 201y &

Correct Answer : D *

N\
N
(10). Which is used to measure the i \\Tonductor? | Hede B 3HR Bl
m%mmwm@%

(A) Bevel gauge | CENEIS s.
(B) Vernier caliper | a@ﬁw

(C) Standard wire gauge | %EUSSC qrR T

(D) Depth gauge | TIETIgﬁ\_IT

Correct Answer : C

(11). What will happen to PVC insulation in cable carries excess current
continuously for long period? | HIA P PVC Ppdlcidh hI Kl gl’ll, gfe i
¢RI T Y T dgdl g?

(A) Voltage drop increases | diceo UTd a%m



(B) Voltage drop decreases | ?fl@TﬂETq gl
(C) Insulation resistance increases | Wmﬂ a%}n
(D) Insulation resistance decreases | Wmﬂ el

Correct Answer : D

(12). Name the part marked ‘X’ of belted U.G cable. | ¢S “{&I"Iﬁ%ﬁﬁ’wﬁ
ST T T A I3

(A) Jute filling | T WISeIT \\:b
(B) Armouring | STHRIT s\\'\Q/

(C) Lead sheath | oS Tty @*

(D) Paper insulation |

Correct Answer : C

(13). What is the use of Britannia ‘T’ joint? | forerf=ar WWWW%?
(A) Extending the length of the lines | c1Ig- Pl Q‘I*dl'irﬁ delHl

(B) Inside and outside wiring installation | 3TdRa 3R TET AR RATUT BT
(C) Mechanical stress not required on conductor | qTdPH R FifAed d-1d
3{TaRG D g1

(D) Tapping the service connection from overhead lines | R NIES! I a1
SSERESISEL




Correct Answer : D

(14). What is the reading of the micrometer? | Hl‘iw\IH‘.‘ICQW SIRDICE %?

_'_'-'_'-'_'_'_'_,__'_'_ - e
T
—— |5
= |4
(Y SR |am
(A) 5.05 mm

(B) 5.00 mm Q’}.

(C) 4.55mm
(D) 4.05 mm *
Correct Answer : C ~\~'b®
\\'Q/
(15). Which part of the undergr u\l cable is protecting the metallic sheath
against corrosion? | -ﬁm@%ﬁﬁqw U YTed 1 had Bl &W@W%?
(A) Serving | i $
(B) Bedding | sfeT
(C) Armouring | STHRT
(D) Lead sheath | R

Correct Answer : B

(16). What is the advantage of stranded conductor over solid conductor? | HQEE
HSaeR BT 31 HSaeR &I gal H ol BRG]l g2

(A) Costis less | IRTd HH G




(B) More flexible | 3{f¥h Ticll
(C) Less voltage drop | ¥ dice s UTd
(D) More insulation resistance | &ﬁ%mmﬂ

Correct Answer : B

(17). What is the name of the joint? | 99 \)1-\I5 D[ HT [TH %?

(A) Married joint | ﬁﬁg\_rng

(B) Scarfed joint | THTHS SIS

N
(C) Western union joint | WW@@@

(D) Britannia straight joint | Wﬁﬂ%@

Correct Answer : A "\\.\
L 3

QA

(18). Which type of joinii u§ed in over head lines for high tensile strength? | 3=

I 2q RRIUR A9 BoIH 1 oS SUTNT faa ST g2
(A) Scarfed joint | HTHS \)1-\I5

(B) Britannia ‘T’ joint | W’T’\_rh_sf

(C) Western union joint | aﬁqﬁmﬁh‘s’

(D) Britannia straight joint | W@E’\_rﬁ_s’

Correct Answer : C

(19). Which is the semiconductor material? | MUEIRED WﬁﬁqﬂT%?



(A) Eureka | gl

(B) Ebonite | TdFTSC

(C) Manganin | BRTIR
(D) Germanium | STHATH

Correct Answer : D

(20). What is the full form of “XLPE’ Cable? | XLPE’W@W%

(A) Cross Line Poly Ethylene

(B) X’ess Line Phase Earthing Q’},
(C) Cross Linked Poly Ethylene

(D) Excess Length Paper and Ebonite @

Correct Answer : C

(21). Why the soldering iron m t%%‘kept into a stand that not in use while

soldering? | TGS 3TARA § %e—@ﬁw—m S H ol TG 91 u?

| T8 WeH T4 S Bl Apa1 3

(B) To control the excessive heat | &ﬁhﬂﬂmﬁﬁﬂﬁﬁméﬂ

(C) To save the time of soldering process | @WWWWW%@
(D) To save the operator from electric shock | Wﬁﬁ?{ﬁ sicab REEIE

g

Correct Answer : A

(A) It prevents burns

(22). What is the rating factor of cable provided with coarse excess current

protection? | Had 1 31fe SATANGT URT IRET P fIT YRTICT HRS 1 7?2



(A) 1.11
(B) 1.23
(C) 0.81
(D) 0.707

Correct Answer : C

(23). Which formula is used to calculate the power of a DC circuit? | St gy |

i B IO B BT FT G 82

(A) Voltage x time
(B) Current x voltage Q’}’
(C) Current x resistance \o
(D) Voltage x resistance @*
Correct Answer : B . Q:\:b
R
(24). What is the advantage Q@ﬁ\ping? | W@WW%’P
(A) Gives neat appeara ﬁwwé‘cn%
(B) Reduce load current | YR YRTHH B
(C) Avoid loose connections | &Icl 9ol &l eTaT
(D) Easy to replace | AT I TGl

Correct Answer : C

(25). What is the purpose of bedding insulation of U.G. cable? | “{&I"ﬁmﬁ

ST BT RTITT 87

(A) Protect the cable from mechanical injury | Had B! JiFD &fd q S




(B) Protect the cable from moisture and gases | Wﬁmﬂ@ﬁﬂﬁm

(C) Protect armouring from atmospheric condition | Wﬁﬁ@@?ﬂﬁ
ISR EEIRI

(D) Protect the metallic sheath against corrosion | ¢Tfcd Had B &R Y I

Correct Answer : D

(26). Which is provided above the metallic sheath in UG cable? | UG Had H

Tl Y & HUR DI A1 U o STt g2
(A) Armouring | SITHINTT
(B) Bedding | ST QQ’}
(C) Serving | | &\"
(D) Paper insulation | UUR SR @
o
&S
(27). What is the unit of in@;esistance? | HATAD UTRIY B IHIS &-

(A) Ohm @

(B) Kilo ohm

(C) Milliohm
(D) Mega ohm

Correct Answer : D

(28). Which test is conducted to locate the faults in U.G. cables? | @HW%
g IR & 31N &I J1d food oI Uhd 872

(A) Loop test | ﬁqéﬁ



(B) External growler test | dIgl YT $H IR o

(C) Break down voltage test | S SIS dlecol ¢

(D) Insulation resistance test | Wmﬂéﬁ

Correct Answer : A

(29). What is the use of dipsoldering method? | fSu e fafe 1 SuarT o
82

(A) Soft soldering | T4 e

(B) Piping and cable soldering work | tﬂ%ﬁﬂ ﬁwm

(C) Soldering miniature components on PCB | U T ISR

K ®

(D) Soldering sensitive electric components@%ﬁﬁﬂ?’ﬁw YT bt Fies R

o

(30). Which type of soldering m t&%"is used for servicing and repairing work? |
m&wm&a&%ﬂwﬁmmmﬁm%
(A) Dip soldering | f$u

(B) Soldering with a flame | SATAT & 1Y IS

(C) Soldering with soldering gun | IS AT T & 1Y Aiea R

(D) Soldering with a soldering iron | IS AT TR o 1Y TIea R

Correct Answer : C

Correct Answer : C

(31). What is the effect of electric current on neon lamp? | :ﬂmaufrﬁagﬁ YRT
&1 THT T HaaTdl g2

(A) Heating effect | ST gUTd



(B) Magnetic effect | IF g THTT
(C) Chemical effect | INAE guTd

(D) Gas ionization effect | TRT HTIIHRUT UHTT

Correct Answer : D

(32). What is the name of the soldering method? | OIS T WWWW%?

&
N
N\
(A) Dip soldering | LRSI 'b@

(B) Soldering with blow lamp | ®_le Y QISR

(C) Soldering with soldering gu AT o 1Y FIes 3T
(D) Temperature controll o%ermg | GICEIEAERIERRIIREIR

Correct Answer : D

(33). Which type of soldering flux is used for soldering aluminium conductors? |

TGHITIH ATeioh] 1 HITER R B [l UhR o HIeS {1 Teled T T
ERIEIGIES,

(A) Tallow | %?ﬁ

(B) Ker-al-lite | R-3d-AT3C

(C) Zinc chloride | ST FARISS

(D) Sal ammonia rosin | Il ST AT



Correct Answer : B

(34). Which type of joint is used for extending the length of conductor in over

head lines? | RRIUR A4 & A1d® &1 TS 96 8 [ Y UHR & S8 ST
ICRINEE

(A) Scarfed joint | THTHS oIS
(B) Aerial tap joint | EﬁfQﬂ?’CrGﬁ‘s’
(C) Britannia “T” joint | %ETIEI'CIT'T'\_Th_Sf
(D) Western Union joint | aﬁﬁq&lﬂq\_ﬂ_&’
Correct Answer : D é}’
N
(35). What is the fault of U.G cable identifie®4\w circuit? | HIETd el & fob g
PR & S 1 J1d b1 ot Teha 82 4O
R

%¢ [ ™

Q

o
1, ]
1. *

(A) Ground fault | &aﬁ

(B) Short circuit fault | Ff‘{{tlﬁ'qﬂfﬁq

(C) Open circuit fault | Eﬁﬂqﬁ'qum

(D) Weak insulation fault | Obl-l\,ri\li RECINEE Eﬂ'E[

Correct Answer : B



(36). What is the disadvantage of solid conductor compared to stranded

conductor? | 31 ATAH D1 Y §U ATAD BI o H o1 g1+ 82
(A) Less rigidity | HH BRI

(B) Less flexibility | H TdIATT
(C) Low melting point | ¥ TTA-Ih
(D) Low mechanical strength | ¥ JiAd Ufad

Correct Answer : B

(37). What is the name of the tool? | 9 3NOIR W&m%’?

(B) Wire stripper | dIUY

A

(C) Crimping tool | cd
(D) Side cutting plier | T3S I WY

Correct Answer : C

(38). What is the value of electrical conductivity of aluminium conductor? |

TgHIaH ATee &1 Iradhdl &1 31 HH 87

(A) 61 mho/m

(B) 56 mho/m



(C) 35 mho/m
(D) 28 mho/m

Correct Answer : C

(39). Which method of soldering is used for repairing the vehicle body? | a'I_EF'ﬁﬁ

J18 & GUR g AIes T B DI T fafer oieT &t Sl /2

(A) Dip soldering | fST TIERAT

(B) Soldering with flame | SATAT & TTY IS (NI

(C) Soldering with soldering iron | @WW%%@W

(D) Soldering with soldering gun | Fil@ﬁ‘l"ﬂ%?&w
Correct Answer : B @ *

(40). Which is the property of a goad @%’ﬁctor? | G@WW‘IUTW%?
(A) Low specific resistance | ﬁ IGEI]

(B) High dielectric streng'@‘é’mw

(C) High specific resis@ | 3 fafRry ufeiy

(D) Low mechanical strength | ®H Qlébﬁcbm?fr%

Correct Answer : A

(41). What is the formula for Quantity of electricity (Q)? | WWW&HW
87
(A) Current x Time

(B) Voltage x Current

(C) Current x Resistance



(D) Voltage x Resistance

Correct Answer : A

(42). How many electrons are there in the valence shell of a copper atom? | dis

& TRYTY[ & 31 Tgh H foha- aiaeH 81d 82
(A) 1

(B) 2
(C) 8
(D) 18

S

Correct Answer : A

®
(43). Which type of joint is suitable for mor@ stress? | fPguspR &1 \)1-\I$
3R q=adT a1 & oY Suger 22 @

(A) Scarfed joint | SIS \IOIIS;C;\\'

(B) Britannia T- joint | W\Eﬁz’

(C) Western union joint &#WW
(D) Married joint | CIE

Correct Answer : C

(44). What is the purpose of ‘serving’ layer in underground cable? | {&ITI?[W

 GfdT URd &1 R IUAI 62

(A) Protect the cable from moisture | HEA DI TH I T

(B) Protect the cable from mechanical injury | Had DI Jid effd I ST
(C) Protect metallic sheath against corrosion | ¢Tfcd® Had &l &ITUTQEIHFIT



(D) Protect armouring from atmospheric condition | &ﬂﬁmﬁw
fRUfa T s

Correct Answer : D

%15). What is the unit for Quantity of electricity? | Wﬁﬂﬁ%ﬁﬂmw
5

(A) Mho

(B) Coulomb

(C) Volt /second
(D) Ampere/second
Correct Answer : B .Q

(46). Which method of cable laying is su@ for congested areas? | Had [FBH
P 0 A Wil A 3

(A) Racks in air | BaTH ¥ @\
(B) Duct pipes | SdC

(C) Along buildings | & 1Y
(D) Directin ground | T8 SIH-

Correct Answer : B

(47). What is the purpose of additional covering over the insulation of insulated
conductor? | $ACS H ST B IGARM TR HTAREd HTIRUI T I£¥T T ]

(A) Toincrease dielectric strength | Slqsaﬁgcb Wﬁm%ﬁﬂ
(B) To add more mechanical strength | WWWﬁWS A %]%’I'Q

(C) To increase the current carrying capacity | ®c dg- &WT@W%%‘I’Q




(D) To increase the life of conductor | HSICI P AR Bl TG P [T

Correct Answer : B

(48). What is the effect on molten solder due to repeated melting? | WEQ
Tice) & TR-IR fUgd Q o1 UHId USdl g2

(A) Tin content reduced | feq 'J-WTWEP[GI'I?IT%
(B) Lead content reduced | @@WWW@W%

(C) Prevent slug formation | 17l B g1 U adl %

(D) Uneven flowing in joints | UI\IS.\I'WH{-IHI"I dgld \
&‘g\

(49). Which type of cables are used for u und services from 33 kv to 60 kv?
| 33 kv ¥ 60 kv T 1 UPRTT Harafi UhR & Hed bl ST fba
SIGIEE . s\\'

(A) High tension cables | 3= Had

(B) Extra super voltage | &Iﬁﬁﬁﬂwmm

(C) Super tension cables’| JUR CRH had

Correct Answer : A

(D) Extra- high tension cables | 3ifdRad-3=a d-1d Had

Correct Answer : D

(50). What is the possible range to measure the size of the wire in a Standard
Wire Gauge (SWG)? | SWG ¥ AR BT 3{THR HIUH B U HT g2

(A) 0-44
(B) 0-42
(C) 0-38



(D) 0-36

Correct Answer : D



